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One of them is the comect answer.

Make your choice {1, 2, 3 or 4). Shade your answer on the Optical Answer Sheel. (50 marks)

For each question from 1 to 25, four options are given.

Ben and Tom were given some cookies:as stiown. Each boy grouped them differently

from the other as shown in the classification tablés below,

Ben grouped the cookies according to their

sizes

H

colours

(2}
3
(4)

shapes
patterns
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2 Study the table below.

Things
Group A Group B Group C
Postcard Tie . Tyre
Exercise book Handkerchief . Eraser
Writing pad Blouse Balloon
The objects above are grouped according to
§)] their size
{2) their weight
(3)  what they are made of
4) what they are used for
3 Four children déscn'bed the things that they have seen.
T Al My toy car cannot move anymore. it has died.

Tim: My cat puirs when you patits head;_.It can raspond to changés-
Liy: My plant’s height changed from 3cm to Scm. It shows signs of growth.
Siti;  The leaves are rustiing in the wind. They are able to move on their own.

Whose statemenls are comrect?

1
(2)
(3)
(4

Siti and Alionly
Ali and Lily only
Tim and Siti only
Lily and Tim only

4 Study the table below. Which of the things are grouped incorrectly?

Q)
2)
()
4

Non-living things Living things
eraser staghorn fern
handphone zebra
frog cheese
bench toadstool
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5 The diagram below shows the skeletat system of an animal.

Which of the labelled parts protect the important organs of the animal?

)] A and B only

2 B and C only ST
{3) CandDonly

(4) A, BandDonly

6 A fish and a snake may be put in the same group because they

{1) glide about

{2) have slimy bodies

{3)  breathe in the same way

(4) have similar outer coverings

ACS{J) 8C P3 SA2 2012
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Study the classification diagram befow carefully.

The two animals are different from each other in the

(1
2
&)
(4)

Eagle

A food they eat

B way they move
c way they reproduce

B only
C only
Aand B only
Aand C only

ACS(J) SC P3 SA2 2012
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Anfmals
¥
I i l
X Y z
I | I
dragonfly bat sthari
grasshopper platypus seahorse
What are the most suitable headings for each group of animals?
X Y 2
) bird mammal fish
(2} insect mammal fish
{3} insect bird fish
4) insect bird mammal
8 Study the two animals below.

Ostrich




6 0

9 Some animals are classified into two groups as shown below.
Animals
X - Y
Crow Lion
Spamow Rabbit
Spiny anteater -Dolphin

Which of the following best represents Xand Y?

X Y
(1) Canfly - Gannot fly
{2 Eats plants _ Eats animals
{3) _ Live.in the water " Live onland
{4) iayeggs Give birth 1o live young

10 John left a piece of bréad on a table untouched. After a week, he observed that some
dark coloured spots had formed on the bread.

magnified section

Which statement(s} describe(s) the dark-coloured spots corre'ctly?

A They help us to digesi the bread better.
B They are created by yeast used during baking.

G They contain spores which are needed for the reproduction of mould.
{1 A only
{2} B only
(3) C only

(4 A, BandC
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12

. 7
Four similar bowls of cooked rice, P, Q, R and S, were placed in different locations
with different temperatures and brightness. The table below shows the conditions for
each Bowl of cooked rice. In which bowl of rice would mould take the longest time to
grow?

Conditions at.location _
Bowl Temperature Brightness
(1 P Very Cold (5°C) Dark
(2} Q Cool (14°C) " Dark
(3 R Warm (28°C) Bright
O8N s Warm {28°C) Dark

Bobby piéced three different materials, X, Y and Z, of equal lengths into a shatllow dish -
of coloured water. The diagrams below show how the strips looked tike before and
after the experiment.

Strips . _ Strips
X Y z ‘ X Yy Z
(278 P2z 2 LA Y V22T YA T P27
. - dish of
e toloured water T
Start of experiment End of experiment

Which of the following materials could X, Y and Z be made of?

X Y z
(&3} cardboard ~ plastic tissue
{2 plastic A tissue cardboard .
{3) tissue | plastic cardboard
{4) cardhoard fissue piastic

ACS(J) SC P3 SA2 2012




13 Standing at a height.of 1m from the
each of the threé identical boxes mad

B

of his experiment is shown in the table below.

L4

ground, Gavin dropped a 1kg iron bailt once on
e from different materials, P, Q and R. The result

Material of box P Q R
Appﬁ;amnce of the box Shightly | Brokeintoa few
after the experiment damaged pieces No change

Based on Gavin's experiment, what can he conclude?

(1)
@
3
4

Allan rolied up Part X to aliow cool air into the
Part X will aliow him to roll it up?

N
(2}
(3)
{4)

15 In the table below, which material does not match its property and use?

Material Q is harder than Matenial P.
Material P is-harder than Material R.
Materials P and Q are harder than Material R.
Materials P and R are harder than Material Q.

14 _ The diagram below shows 4 tent with a part labelled X

Texture
Strength
Fiexibility
Waterproof

tent. Which of the following propetties of

Material Property Use
m cloth flexable dress
2} glass transparent gate
{(3) wood hard door
{4) plastic waterproof bag
ACS{J) SC P3 SA22012




16 Undigested food goes into the where most of the water is removed
from it

{1) anus

{2) recium

{3) large intestine
(4 small intestine

17 The graph below shows the amount of digested food in different parts of the digestive
system. '

Amount of digested food
-~

~ Paris of the
> digestive system

B G D E
Which of the following diagrams maiches the graph a'bc_we’?_

(1 @ -

9 (4)

* ACS(.J) SC P3 SA22012 / -




18

19

20

10

]
Which of the following statements about a system is definitely true?

{1 it has only one part.

{2} It must be complicated.

{3) it must be a non-living thing.

{4) it cannot work properiy if some parls are faulty.

How are our teeth usefulin helping in the digestion of food?

{1) They produce digestive juices.

(2} They help us to swallow our food.

{3 They help to tear, chew and grind the food into smatler pieces.
{4) They help to roli the foad particles into balls to ease swallowing.

The living. things shown below are grouped together based on a éor_nmon
characteristic. )

carrot orchid banana

The common characteristic is that they all

(1) have flowers

{2} produce seeds

{3) can make food

{4) reproduce by spores .

ACS{JS) SCP3SA2 2012



11

21 Some leaves are sorled into two groups as shown below.
Group R Leaves with toothed edges
Group S Leaves with entife cdges

Which of these leaves should be placed in Greup 57

A B c B

(1) AandBonly
{2) B and C only
{(3) AandDonly
{4y BandDonly

22 Mr Ang bought 2 pots of plants of the same t'ype and size. He removed all the leaves
on Plant B. He watered them daily and left them on a window sill.

Pilant A

After a week, Mr Ang tbserved that Plant B had withered while Plant A was growing
well. This shows that plants need ____

{1) air to live

{2} water 1o survive

{3) sunlight 1o grow

4 leaves to make food

o
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23 Wwhich of the foliowing statements comectly describes the function of the lungs?

{1) it allows gases to exchange.

{2 It helps to give the body its shape.

(3} It changes carbon dioxide into oxygen.

{4) it transports oxygen to the rest of the body.

24 The diagrams below show three body systems and Jean kicking'a ball.

Which system(s) enable(s) Jean's leg to kick the bali?

(1) B only

{2} C only

(3) B8 and € only
4) A,BandC

ACS({J} SCP3 SAZ2 2012
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25 Study the classification diagram below.

RS
Flowering N(__m—Flowering
[ - i
[ i A . — |
On land In water On land In water
c D S T G

Which of the following statements desciibes Plant D corvectly?

(1
@
3
4

" 'ACS(J) SC P3 SAZ 2012

" itis a land plant that produces seeds.
1t s 4 land plant that produces spores.
itis a water plant that proeduces seeds.
Itis a water plant that produces spores.
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Wiite your answers to questions 26 to 39 is this booklel _
Fill in the blanks with the correct answers. {40 marks)

26  Jack and.Sam saw some bracket fungi on a dead log on the way home from school.

(a) Jack told Sam that bracket fungi are plants. Is he coirect? Explain your answer. 1!

(6) * Explain why bracket fungi are usually found on dead animals and plants. ]

{c) Jack and Sam carned out an experiment with four similar-sized pieces of wood which
-they found on their way home. They soaked each piece of wood with 500ml of water for
different-number of days and placed them at a shady part of the house. They observed

and recorded the day which fungi started growing on the wood in the table below.

Number of days the wood | Day which fungi started
Wood . S .
was soaked in water to grow on wood
A . 0 : - Day28
B 1 Day 15
C 2 ' Day 10
D 4 Day 7

Which of the following conclusions isfare true? Put a tick (+) beside the statements
which isfare true. 1

T 1L
Statement Put a smewe(v) if the
) statementis true

Fungi first grew on Wood A

All of the pieces of wood had fungi growing on them by
day 28

The longer the wood was soaked in water, the faster
I fungi started growing onit.

ACS(J) SC P3 SA2 2012 o Sub-total:
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27 The diagram below shows Plant G growing on wooden poles.

wooden pole

{a) Which of the follow:ng statemenit(s) islare true of Plant G? Put a tick (V) beside the
correct siatement(s). . 1]

Put a ticif () besiﬁe the

Statement correct statement{s).

It has.a weak stem.
it bears flowers.
its leaves have smooth edges.

{b) How does the wooden pole help the plant? 1

28 = Beity caught a caterpillar and placed it in the jar shown below.

paper
jar

caterpillar

(@  What wili t_lappen to the c_:aterpii?ar? Why? M

{b} List two things that Betty should do to help her caterpillar stay alive so that it can
become a butterfly eventually? it]

Sub-totai:
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29  Jovan gave animal K different kinds of food and a fresh bowl of water. The table below shows
the amount of corn, worms, fish and ggss left at the end of two days.

Pk
Type of food Com * Worms Fish Water plants
Amount of food given on 100 - 100 100 100
1% day (grams)
Amount of food left-at the
end of 2™ day {grams) 57 68 ,2_5 42
(a) Based on the 'a_bove infoméﬁén. does animal K eat only plants or animals or both
plarits and animals? Y
{b) Which type of food did animal K like most? What information from the table tells you
$0? : ' (11
{c) Jovan observed that animal K hiad the following characieristics.
« lthas webbed feet. :
« |t has feathers.
= Hcanfly.
Which animat group does animal K most likely belong to? Explain your answer ‘based
on the information given above. [1]
ACS(J} SC P3 SA2 2012
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30 Study the chart below.

( =) The letters, J, Kand L, in the cha!i
the letters, J, Kand L,

. ' Does it have ~ No No
Yes Yos‘ B
No
J No Angelfish L v Aﬁg::fer
Yes
b 4
Guppy

represent questions that help 1o classify the animals. Wiite

in the correct boxes below to indicate the question they represent. Each

letter can only be used once. {31
Question Letter
Canitfly? :
Does it lay e_'ggs‘? -
-Does-it give birth to its young:alive?
()  Based onthe information above, how is the dog different from the angelfish? M1
31 (a) In the mouth, substance X mixes with food to break it down into smaller forms.
What is substance X? [l
(b)  Name all the pari(s) of the digestive system where digestion takes place. i
{c}  What happens to the food that has been digested? i1l

AQS(J) SCP3I SA2 2012
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Rick fried to pull out a plant from the ground but had difficulties doing that. Hence, he decided
to use a knife to cut the roots all around the plant before pulling it out from the ground as
shown below.

@

®

plant

Why did RicK find it difficult to pull the plant out of the ground at first? {1}

Rick then planted the plant in a pot of soil. He watered it and put it at a sunny spot in
‘his-garden. However, he observed that the plant started to wilt after two days. Explain
his observation. ]

ACS(J) SCP3SA22012 Sub-otal: l
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33 The pictures below show how Liza classified some animals.

Group R
3
(a)  Write suitable headings for Group R and Group S. . {11
Group R:
Grotp S:

(b) Liza could further classify the animals in Group S into 2 groups as shown below.

GroupT . Group U

Describe how the above groups of animals are different in the way they move. {11

{c) Liza grouped the animal below together with the rest in Group U.

Which characteristic did she use to group tr;e three animals together? {1

ACS{J) SC P3 SA2 2012 _ Sub-total:
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' 34 Joshua conducted a test on Bags A, B and C which are made of different materials as shown

below.

retort stand /

— bag

container of sand

1

He poured $and into each bag sfowly uniil the handle of the bag broke. He recorded the results

in the table shown below.
Mass of sand added before the
handle of the bag broke {(grams)
Bag A : . 483
Bag B 285
~BagC 920
(a) Arrangé the three bags according to their strength. Begin with the one which is the

strongest. g

(b) Joshua's mother bought a packet of sugar that weighs 500 grams and wants 1o carry it
home from the supermatket. Which bag, A, B or C, should she use? Explain your
choice. ) (1

{c) Joshua was told that the bags were made of cloth, lealher and paper. Which bag, A, B
or C is most likely made of paper? i1
Bag made of paper:

' ACS(J} SC P3 SAZ 2012 Sub-total:
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35 Clare wanted to test if plants need sunlight io’make food. She placed two similar plants in two
different tanks as shown below. The plants were given the same amount of water and placed
near each other in a sunny spot in the garden for two weeks.

Black plastic tank Transparent plastic tank

PlantY PlantZ
At the end of the two weeks, Clare observed that Piant Z continued to look healthy but Piant ¥
was wilting.
(a} . Based on the results of Clare’s experiment, what can Clare conclude? [

{0 What else do/does plants need in order to supvive?

fl

ACS(J) SC P3 SA2 2012 _— 7. . ‘Sub-otak
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10

Andrew observed some animals and the flowers they visit. He classified the flowers imthe chart
below and recorded the charadleristics of the flowers which attract differen_t animals in the table

as shown.

Flower
. 3
I BTl S
small; large-

r i i o 1
yellow- white white . yeliow
v] w Y >

o ‘Characteristics of flowers
Animal - -
Size Colour
3 small bright blue of yellow
K large white:
L ‘small white
M large- red or yellow
N targe white

{a} Based on the dnformation in the table, which animal(s) would be attracted to large white

flowers?

{1l

(b) Compare flowers W and Y. How are they different? o '-ﬁ}

{c) Based-on the chart and fable, identify the animals which will visit flowers V and Z. {1}

Flower V2

ACS{J} SC P3 SA2 2012

Flower Z:
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37 Mark went shopping with his mother. They bought a potand a photo frame as shown below.

not cover
cover

photo frame -

a)  The pot which his mother bought allows her fo see the things which she is cooking.
Which of the following materials, glass, metal or plastic, is most suitable for making the
pot cover? ' _ B

{b) What is the comimon property between the materials used to make the pot cover and
the cover of the photo frame? . {13

{c} When Mark got home, he noticed that the h_inges fixed on his house doors are made of

metal.
hinge
door
Name the property of metal which makes it suitable for making hinges. {1}

ACS(J) SC P3 SA2 2012 o o ~ 7 Sub-otal:
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Q

{a) Our skeleial system protects our delicate organs, fike our skull. What are the other two

38
funclions of the skeletal system? , 2}

()  The diagram below shows some human body. systems.

(i  Name the organ labelled A. {11

S Which part of the skeletal system protects organ A? [1]

ACS(J) SC P3 SA2 2012 Sub-total: | ‘
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39 Three similar plants were placed info 3 identicat containers filled with 200ml of water. A layer of
oil was poured into each container to prevent the water from evaporating into the air. The
volume of water in each container was. recorded at the end of the 6% day in the table below.

Plant B

: Volume of water (ml)
Plant —— :
_ . Day1 - oo . Day 6. ..
A 200 . . 175
B 200 | . 180
c 200 - 160
(@) Which plant, A, B or C, took in the most amount of watei? (1

{b) Based on your observation of the 3 plants, why did they take in different volumes of
water? ' ‘ [1j

(c) E}ased on the above experiment, state the characteristic of living things displayed by
the plants. i

AcS(gSCPasaza012
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BOOKLET B

26. a) Jack is wrong. Unlike plants, the bracket fungi does not make its

own food.

b) Bracket fungi feed on dead animals and plants

9}

Statement

Put a tick if the
. statement is true

Fungi first grew on wood A

fungi started growing on it.

{ All of the pieces of wood had fungi growing on them by v
day 28
The longer the wood was soaked in water, the faster v

27.3)
Statement Put a tick beside the correct
statement(s)
It has a weak stem. oV
It bears flowers. -V
Its leaves have smooth edges.
1of3 . . - . SRS |
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Answer Key


b) The plant clings on it to reach out for sunlight.

28. a) It will die. It doesn’t have food, water and air.
b) Poke holes in the paper and give the caterpillar some fresh leaves to
eat.

29. a) Animal K eats both plants and animals.

b) Fish. It has the least number at the end of the second day.

c) Animal K belongs to the bird group. Some birds have webbed feet,
but all birds feathers and some can fly.

30. a)
Question Letter
Can it fly? L
Does it lay eqggs? K
Does it gwe blrth to its young alive? J

b) The dog does not have gills while the angelf‘ sh does.

31. a) Substance X is saliva.
b) Mouth, stomach and the small intestine.
¢) It goes through the bloodstream where it is transported to other

parts of the body.

32. a) The plant roots were holding the plant firmly to i:lie ground.
b) It did not get the water since there were no roots. The roots take in
water and mineral salts.

33. a) Group R: Insect Group S: Mammal
b) The animal in group T walks while the animals in group U swim.
c) They swim.

34.a) Bag C, bag A, bag B

b) She should use bag C. Bag C can carry the most mass of sand. The
mass was higher than 500 grams.

c)Bag B .
35. a) Leaves make food from sunlight. The plant needed food but there
was no food so it wilted.

b) Plants need air and water to survive.

36. a) Animals K and N would be attracted to large white flowers.

b) Flower W is small while flower Y is large.
c) Flower V: Animal 3 °  Flower Z: Animal M
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37. a) Glass
b) Both are transparent.
c) Strong.

38. a) It gives the body its shape and works with the muscular system to
enable the body to move.
b) i) Heart ii) The ribcage

39. a) Plant C. -
b) They needed more water as each of them had different number of

leaves.
c) Living thmgs need water to survive.
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